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T % 7 8 9 10 11
m B W 1,404 1,404 1,430 1,340 1,130 |
| & & W -2 99 100 70 50
% B W 50,041 49,481 43,100 42,960 42,460
& W1 W 2,727 2,727 2,720 2,250 1,590 -
%% 5w - - - - 10
5 54,244 53,711 47,350 46,620 45,240
= H 18,602 18,502 17,855 17,670 15,040
A B W 1,185 955 1,320 1,300 1,010
I ) 850 850 - - -
E g 780 780 750 610 310
£ B 4| - 30 - - —~
- 400 400 380 350 180
— & W 12 12 - - -
= ) 150 150 220 200. 110
=TT} 650 250 250 200 - 150
£ & W 200 200 100 50 40
5 22,829 22,129 20,875 20,380 16,840
RN 1,370 " 1,370 970 870 730
w |8 WO 80 280 280 - 150 50
R 500 500 350 290 240
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